
OYS TER MUSH ROOM PRODUCTION

ew{∫$ _eÍ$_ CÀnmXZ
( The ory )

(353)

Time : 2 Hours ] [ Max i mum Marks : 60

g_` : 2 K Q>o ] [ nyUm™H$ : 60

Note : All questions are compulsory and carry marks as indicated against each

question.

{ZX}e> : g^r ‡ÌZ A{Zdm`© h¢ Am°a ‡À òH$ ‡ÌZ Ho$ AßH$ gm_Zo {XE JE h¢ü&

1. Choose the correct answer and write (A) or (B) or (C) or (D) in the answer-book

given separately : 1×9=9

ghr CŒma Mw{ZE Am°a AbJ go Xr J`r CŒma-nwpÒVH$m _| (A) `m (B) `m (C) `m (D) Omo ^r hmo, {b{IE :

(i) White button mushroom is

(A) Lentinus (B) Agaricus

(C) Volvariella (D) Scleroderma

g\o$X ~Q>Z _eÍ$_ h°

(A) bop›Q>Zg (B) EJ°[aH$g

(C) dmoÎdo[aEbm (D) ÒäboamoS>_m©

(ii) How much old spawn can be used for bed preparation?

(A) 10 to 15 days (B) 15 to 20 days

(C) 18 to 20 days (D) 20 to 30 days

~oS> H$s V°̀ mar Ho$ {bE {H$VZm nwamZm Ònm∞Z Cn`moJ _| bm`m Om gH$Vm h°?

(A) 10 go 15 {XZ (B) 15 go 20 {XZ

(C) 18 go 20 {XZ (D) 20 go 30 {XZ
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(iii) Spawn is sterilized at

(A) 20 psi for 2 hours

(B) 20 psi for 4 hours

(C) 20 psi for 6 hours

(D) 20 psi for 8 hours

Ònm∞Z H$mo {H$g Xm~ na {ZO©_uH•$V H$aVo h¢?

(A) 20 nr Eg AmB na 2 KßQ>o Ho$ {bE

(B) 20 nr Eg AmB na 4 KßQ>o Ho$ {bE

(C) 20 nr Eg AmB na 6 KßQ>o Ho$ {bE

(D) 20 nr Eg AmB na 8 KßQ>o Ho$ {bE

(iv) What is the use of sterilized 5 mm iron rod?

(A) To re move seed from bot tle

(B) To stir the spawn to get in di vid ual grains

(C) To in oc u late spawn

(D) To close seed bot tle

5 {_0_r0 H$s {ZO©_uH•$V bm°h N>ãS> H$m ä`m H$m`© h°?

(A) ~moVb go ~rO {ZH$mbZm

(B) Ònm∞Z H$mo {hbmH$a AbJ-AbJ XmZo ‡m· H$aZm

(C) Ònm∞Z H$m Q>rH$m bJmZm

(D) ~rO ~moVb H$mo ~ßX H$aZm

(v) Oyster mushroom grows well at

(A) 30–35% rel a tive hu mid ity

(B) 70–75% rel a tive hu mid ity

(C) 75–90% rel a tive hu mid ity

(D) 80–90% rel a tive hu mid ity

ew{∫$ _eÍ$_ A¿N>r Vah ~ãT>Vm h°

(A) 30–35% gmno{jH$ Am–©Vm na

(B) 70–75% gmno{jH$ Am–©Vm na

(C) 75–90% gmno{jH$ Am–©Vm na

(D) 80–90% gmno{jH$ Am–©Vm na
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(vi) The spray of malathion is used to control

(A) green mould (B) ol ive green mould

(C) inky caps (D) phorids

_°bm{W`m∞Z Ho$ {N>ãS>H$md H$m Cn`moJ

(A) hao H$dH$ Ho$ {Z`ßÃU Ho$ {bE H$aVo h¢ (B) Amo{bd hao H$dH$ Ho$ {Z`ßÃU Ho$ {bE H$aVo h¢

(C) BßH$s H°$nm| Ho$ {Z`ßÃU Ho$ {bE H$aVo h¢ (D) \$mo[aS>m| Ho$ {Z ß̀ÃU Ho$ {bE H$aVo h¢

(vii) The temperature of spawn running room should be

(A) be tween 23 °C and 25 °C

(B) be tween 24 °C and 28 °C

(C) be tween 10 °C and 20 °C

(D) be tween 15 °C and 20 °C

Ònm∞Z MbmZo Ho$ H$_ao H$m Vmn_mZ

(A) 23 °C go 25 °C Ho$ ~rM hmoZm Mm{hE

(B) 24 °C go 28 °C Ho$ ~rM hmoZm Mm{hE

(C) 10 °C go 20 °C Ho$ ~rM hmoZm Mm{hE

(D) 15 °C go 20 °C Ho$ ~rM hmoZm Mm{hE

(viii) The protein content of mushroom is

(A) 1·9 per cent (B) 2·0 per cent

(C) 2·9 per cent (D) 5·0 per cent

_eÍ$_ _| ‡moQ>rZ H$m Aße hmoVm h°

(A) 1·9 ‡{VeV (B) 2·0 ‡{VeV

(C) 2·9 ‡{VeV (D) 5·0 ‡{VeV

(ix) Crop cycle of oyster mushroom is

(A) 120 days (B) 30 days

(C) 45 days (D) 150 days

ew{∫$ _eÍ$_ H$m OrdZ-MH´$ h°

(A) 120 {XZ (B) 30 {XZ

(C) 45 {XZ (D) 150 {XZ
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2. Write ‘T’ for True and ‘F’ for False statement in the answer-book : 1×9=9

CŒma-nwpÒVH$m _| ghr H$WZ Ho$ {bE "T' Am°a JbV H$WZ Ho$ {bE "F' {b{IE :

(a) Spawn running and mushroom cropping can be done in the same

room.

Ònm∞Z Am°a _eÍ$_ H$s IoVr EH$ hr H$_ao _| H$s Om gH$Vr h°üü&

(b) Poisonous mushrooms release good flavour on cooking.

nH$mVo g_` {df°bo _eÍ$_ A¿N>r gwdmg N>moãS>Vo h¢ü&

(c) Bavistin is an insecticide.

~m{dÒQ>rZ EH$ H$sQ>ZmeH$ h°ü&

(d) Inoculation can be done in open room.

Q>rH$mH$aU Iwbo H$j _| {H$`m Om gH$Vm h°ü&

(e) Inoculated bottles should be stored in refrigerator.

Q>rH$mH•$V ~moVbm| H$mo ao{\´$OaoQ>a _| gßJ´{hV H$aZm Mm{hEü&

(f) Full growth of mycelium could be seen only after 15 days.

H$dH$Omb H$s nyU© d•{’ Ho$db 15 {XZm| Ho$ ~mX hr XoIr Om gH$Vr h°ü&

(g) Mushrooms contain more protein than apple and banana.

_eÍ$_m| _| go~ Am°a Ho$bo go A{YH$ ‡moQ>rZ hmoVr h°ü&

(h) Mushrooms are good source of energy.

_eÍ$_ D$Om© Ho$ A¿N>o ÚmoV h¢ü&

(i) Toad stool is poisonous mushroom.

Q>moS> ÒQy>b {df°bm _eÍ$_ h°ü&

3. Match the items of Column—A with the items of Column—B : 2×6=12

Col umn—A                     Col umn—B          

(1) Mushroom (a) 0·1 N hy dro chlo ric acid

(2) Crop ping room (b) PDA slants

(3) But ton mushroom (c) 24–28 °C

(4) Ad just ment of pH (d) Seed material

(5) Stock culture (e) Fungi

(6) Spawn (f) Oys ter mushroom
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H$m∞b_—H$ H$mo H$m∞b_—I Ho$ gmW gw_o{bV H$s{OE :

H$m∞b_—H$                     H$m∞b_—I                       

(1) _eÍ$_ (a) 0·1 N hmBS¥>moäbmo[aH$ AÂb

(2) \$gb H$j (b) nr0S>r0E0 ÒbmßQ>

(3) ~Q>Z _eÍ$_ (c) 24–28 °C

(4) pH H$m g_m`moOZ (d) ~rO gm_J´r

(5) ÒQ>m∞H$ gßdY© (e) H$dH$

(6) Ònm∞Z (f) ew{∫$ _eÍ$_

4. Write short notes on the following : 3×6=18

{ZÂZ{b{IV na gß{j· {Q>fln{U`m± {b{IE :

(a) Spawn

Ònm∞Z

(b) Freeze drying

{h_ ewÓH$Z

(c) Packing and storage

n°qH$J Am°a gßJ´hU

(d) Cropping

\$gb boZm

(e) Spawn running room

Ònm∞Z d•{’ H$m H$j

(f) Diseases of mushroom

_eÍ$_ Ho$ amoJ

5. Describe the following : 6×2=12

{ZÂZ{b{IV H$m dU©Z H$s{OE :

(a) After care in mushroom beds

_eÍ$_ ~oS>m| H$s XoI^mb

(b) Method of preparing mother spawn

_mV• Ònm∞Z V°`ma H$aZo H$s {d{Y

H H H
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